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o=2g= 1,337,872, 7123 %4 . 5% 60,205
0 HIES 1,337,872, 7123 %3.545% 47,428
ooAIRYEER
1,337,872, 7122%3. 545%+12.81% 6,076
0 EEER 1,337,872, 7122 +0.9% 12,041
0 NEHE XY SH LI
1,337,872,712&+0.85% 11,372
ottHES = 1,337,872, 7123 +0.858% 11,479
204 APt AH| 525 525
02 SEF3H 525 525
OAIRIEEHHMAIIM"0H'E sl
43,7502 x 18 * 122 525
M HASFESS 77,873 77,873
04 ZRE(SI[HF) 22 BHRRLS S 77,873 77,873
OZX SXZ(ARDER 19, 1552)
77,873,000& 77,873
[2ZU|(2A8F ) 56,262 55,110 1,182
Jl23Hl HIRA(EA8F 1) 56,262 55,110 1,162
201 er23| 25,630 24,478 1,182
01 At2teltl 25,630 24,478 1,152
Oget=ZHI 54,5003 x21H 122 +90% 12,382
OXME S&tl 8,000 =21H 64 x 122 12,096
Os=48 =&l 8,000 x2& +641x 123 1,152
202 04| 19,872 19,872
01 =LHO LI 19,872 19,872
OX& EF0YI
10,0002 *21 2«82 * 12 *90% 18,144
OZLE (LI ) SHOIH|
10,0002 x2& x8L x 122 %90% 1,728
203 =4l 10,760 10,760
01 J122ggR=4a| 4,800 4,800
OJ|22g8 R4 4,800,000 4,800
02 HRAJAHA R F | 1,160 1,160 0
OZEIRIE R 40,0003 x29H 1,160
M A2 LRSI 4,800 4,800 0




of
i’
oF
uJ

-

KIO

Hlw

MEE
Ofl &k2h

Ofl &F2H

4,800

By

SA - Z3F - SRA(E) - HRAEY

400,000& * 122

0




H & 0l & AHS B Ml A

od
i’
oF
uJ

-

KIO

Hlw

204,714

143,548

220,803

970
840
840

MEE
Ofl &k2h

9,766,047

9,218,917

1,252,878

9,452
9,452
4,452
5,000
1,500
1,500
1,500
35,000
34,100
2,300
2,800

Ofl &F2H

9,970,761

i

2,778,138

1y

178,704

3,923,357
3,090,562

9,362,465
2,394,250

Al

fir

1N

178,704

3,875,371
2,914,140
1,232,075

Al

i

305,699

178,704

350,375

I8

397,297

Al

9,452
9,452
4,452
1,452
3,000
5,000
5,000
1,500
1,500
1,500
1,500
1,000
500
35,970
34,940
3,140
800
840
1,500
2,800
2,000

- HyS

- SRA(E) - HIRAY

S - B

0B

0B

3l
|
1,500,000&

2

3,000,000&
5,000,000
1,000,000&

500,000
2,000,000

121,000& « 122

100,000 8 *1
70,0002 423

gk KA

sy
=

t

Cl
=

01 AFS2t2ltl
01 AFR2t2ltl

o=

10}
&)

|
(=}

)]

H
n~O
A
o0

s

-

3

OAEH

SHAE A&

29,000

800
29,000

800,000

t2 &l

H

f=1

(sl

03




od
i’
oF
uJ

S8 3 8 8 3 P 8
== S S S S S
A0 & o O ~ ~
Ko J < < < <
E
E=)
818 X 3 3 N N 8
>|® ) S S o 9, S
& 2 2 o S g
<
RIS
[@>] o O O M~ WO O ML & O —|wuv Al OO O 0 N = A
SIBIEBIEHEEEE55E B3555588hk5 3833 EEEE8 8§88 B8E
7" |19 B8R 3I|g L£x3I8EBVBR B8=gg €§oF¥vg ¥- - - g ow
3
<
S
= o B =<l =< =< =< =< rt =
of of of of of of of
8 8 S S S 8 8
S S S S S S S
. =N W
o | £ | & z g wg  PE .8 g
X & . S Dl e o g0 ¥ LN
Bl IR 0o Ao 0 &l
. < — o 5l
3D b 0 = i i o
-~ N
| 200 i 2 & a0
< |7 UIE = = = ;
N ME mo o o ETD
= — @ =] 0b i Al o
H| 7l = H 5D a1 sl
F|oy.\ 0l KF - | uo ol ol = = = =
o o = |0 FRR RJ U0 il il RJ
o s [zl 5D o E=) 5 Ko~ I 5 Kl K0
o 2l RN monin 30 T Al 3 A n0
e i A I e O 5 =z R o oA il o R
R %0 (g |z #o (U0 ) 7l AR 2 oF @ ° 3 = 7 il 0
RO &= & @ 3 NG ofl = oK 35 7 <0 140 op
* O oo Oz — 3 O — — O O «w O O
X <|° ar S < e e
I+ =




of
i’
oF
uJ

(@) (@) o () o () (e} ()
N0
Kio
E
E=)
8 S S S 8 8 8 8
« « N N S S S S
- - - - > > % %
LH3r
<
RIS
BNS 8 8 &S S 3838 &8I8 88 8|8 S 38383 S 2LLsSs81R 3 S 383833883 3|8 S 38
MV ®FF|IN 0T IFIRLDDBHINK SO0 ~NAdJdos oS 6N xRenonans SO
~ - - - 5Nl 565038
3
<
b=
s m < m < m < m < m < m < m < m < mr
o o o o o
8 8 8 8 S
S S S S S
O g g S g T8
X0 — — = %_3,
J = 0
ﬂ _xﬁ ﬁ
3l : W L
|..A| &1 = ol
IF 5 =l 30 K o 30
= = KF = i =
. R0 OF G EREG )
— iy _ o il E__ﬁv il
i ) 7 3 o0 i D l
K o K [ < [
2y {0 = & K0 i 0 & < w
. T N0 &l g N0 A z PO 7 _, ™
=r s o KF K o il o o H > ok
K = = ol oF & oD H ) o] o0 N W AD
RO = i o 3 = o 0 ol = 3 al o1 <0aD
X S © S © S © S ©
I+




SH: AYET
M p0IME ALED K
el FUABSIAEIA XIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,050
T 1,050
OYute SSH 7L (=M, S&HA)
70,000,000 70,000
= 21,000
Al 24,500
T 24,500
OSEUHLSTMNY ARARE F(BYA
HE & BIE3A S) 8,000,000& 8,000
= 2,400
Al 2,800
- 2,800
NSAtelss SHAA MEIA 286,880 295,360 18,480
= 143,440
Al 71,720
- 71,720
101 @124H| 88,200 84,600 3,600
= 44,100
Al 22,080
- 22,050
M JIZtHZ2 RS2 88,200 84,600 3,600
OJ1ZtHZ2=2 Xt ._|_tj|( AL AL 88,200
oJlZ2= 2,300,000& x4 H9& 82,800
= 41,400
Al 20,700
- 20,700
o E&H| 50,0002 x4 H+0H 1,800
= 900
Al 450
- 450
ouwsHl S 100,000& x4 & +93 3,600
= 1,800
Al 900
- 900
201 er23| 46,840 51,280 A4,440
= 23,420
Al 11,710
- 11,710
01 At2t2lt] 37,040 39,080 2,040
O=d2elAe 2H(822, MYl S)
37,040,000& 37,040
= 18,520
Al 9,260
- 9,260




SH: AYET
MY 0IME AAEX XY
el FUABSIAEIA XIE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 S5=g4l 1,300 1,200 100
OseNcE dolE2s8= 1,300,000& 1,300
= 650
Al 325
- 325
03 Ar=EHI 8,500 11,000 2,500
O=9 us & g9 g 24
8,500,000& 8,500
= 4,250
Al 2,125
- 2,125
202 04l 600 840 A240
= 300
Al 150
- 150
01 2LHoIHI 600 840 A240
OsgAY E280i4| 600,000 600
= 300
Al 150
- 150
203 HR=&H] 700 720 A0
= 350
Al 175
- 175
03 A=A 2= 700 720 220
SHAY 2= 700,000 700
= 350
Al 175
- 175
301 2= 95,040 97,920 2,880
= 47,520
Al 23,760
- 23,760
14 0Bt 2a3 95,040 97,920 2,880
O=diEd = 95,040,000 95,040
= 47,520
Al 23,760
- 23,760
307 @120l & 55,500 60,000 4,500
= 27,750
Al 13,875
- 13,875
01 2g & 2=Hl 55,500 60,000 24,500




od
i’
o
uJ

-

KIO

Hlw

8,716

2,563

39,700

250

3,030

N2, 780

6,428

MEE
Ofl &k2h

348,692

202,437

255,300

10,730

6,650

4,080

45,000

Ofl &F2H

55,500
27,750

i

13,875
13,875
357,408
178,704
89,352
89,352

295,000

Al

m

Al

I8

147,500
73,750
73,750

295,000

295,000

Al

1y

147,500
73,750
73,750
10,980

5,490
2,745
2,745
9,680

Al

1y

800
400
200
200
8,880
4,440
2,220
2,220

Al

1,300

650
325
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51,428
25,714

1,300
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- HyS

- SRA(E) - HIRAY
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=
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51,428
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SM: ALEXD
S A0IME H2ASE XA
el SEEH =AY KA (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
- 50
03 A FAIH R FAIH| 200 200 0
OXILD A2 AL A F=& 200,000& 200
= 100
Al 50
- 50
307 gI2tol ™ 68,4338 68,438 0
= 34,219
Al 17,110
- 17,109
05 QIZtRIEIS 68,438 68,438 0
OXIHALSI 21 S E AFARRI b
68,438,000& 68,438
= 34,219
Al 17,110
- 17,109
NEEHA 2+ BHAMY 2= & BE= At 1,940 0 1,940
= 970
Al 485
- 485
201 2| 1,940 0 1,940
= 970
Al 485
2 485
01 A2 22| 1,940 0 1,940
OXIS BAAI SHAR 22 A22s D
=5 1,940,000 1,940
= 970
Al 485
- 485
St 33 2 QUEA 2e| 3,697,032 3,283,298 413,734
= 496,810
Al 2,263,630
- 936,592
LR A= XIJ (FEAN) 703,934 703,934 0
Al 527,950
- 175,984
307 212+01 A 703,934 703,934 0
Al 527,950
- 175,984
01 22 & 35| 703,934 703,934 0
HAL L Al A& 703,934,000& 703,934
Al 527,950




FA ABSL
M 0IME AAEX XY
ol SAEY 23 2 2NEA 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 175,984
QIME e AlsHl X 250,800 0 250,800
Al 188,100
- 62,700
307 212+01& 250,800 0 250,800
Al 188,100
T 62,700
0122 & 3=l 250,800 0 250,800
Oeldd Y Azt X
250,800,000& 250,800
Al 188,100
- 62,700
dsH IS EXdA s T 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
307 el2to| & 10,000 0 10,000
= 5,000
Al 2,500
- 2,500
01 2g & 3=H| 10,000 0 10,000
OWELR AR PEMAZ X8
10,000,000 10,000
= 5,000
Al 2,500
T 2,500
stolot HAXlE XIZ A 62,400 60,000 2,400
Al 31,200
- 31,200
307 @20l & 62,400 60,000 2,400
Al 31,200
- 31,200
012z € =4 62,400 60,000 2,400
Ostolet HAXIZE XA
62,400,000 62,400
Al 31,200
T 31,200
XNATSE AMSIMHIA SXTAIG (A2 AIMOF 2H2k2te] 1,218,846 1,340,986 A122,140
KAL) (HEANS)
Al 1,036,019
- 182,827
308 AHAIEHMSOIE 1,218,846 1,340,986 A122,140
Al 1,036,019
- 182,827




SH: AYET
I FAoldE A238 N2
ol SAEY 23 2 2NEA 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 1,218,846 1,340,986 A122,140
OLI2AIMOF H2h2te] XM H*HII=
OIE 1,218,846,000& 1,218,846
Al 1,036,019
- 182,827
SHE A0 AZb2te] XA 168,960 180,225 11,265
308 AtXIEHMSOIE 168,960 160,080 8,880
13 SI[2S0He & EAS A 168,960 160,080 8,880
OADAMOF AZARIXIR AZHI Gt
168,960,000 168,960
AHDAIMOF AZ2e| AL 2R S KIEAHY 189,288 208,890 /19,602
Al 189,288
307 21201 & 189,288 208,890 19,602
Al 189,288
012z & 2=Hl 189,288 208,890 19,602
O4t2 41401 AZ 22| ABlA 2R3 X
! 189,288,000 189,288
Al 189,288
HE 202A =& MH 3,700 3,700 0
308 AHXIEMSOIH 3,700 3,700
18 SIS0t HAS A 3,700 3,700
OHZE 2182 =& M=
3,700,000 3,700
DAL ATE o =2H| XZAH 150,000 60,000 90,000
= 75,000
Al 37,500
- 37,500
307 @20l & 150,000 60,000 90,000
= 75,000
Al 37,500
- 37,500
012z & 2=Hl 150,000 60,000 90,000
ONASYME 2l=Hl A&
150,000,000 150,000
= 75,000
Al 37,500
- 37,500
HAEAE JAEL O gH] AFAS 3,600 7,200 23,600
= 1,800
Al 900
- 900
308 AXIMSOIA 3,600 7,200 23,600
= 1,800
Al 900
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FA ABSL
M 0IME AAEX XY
ol SAEY 23 2 2NEA 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgR0 LT FLLAM| X
5,400,000& 5,400
= 4,320
Al 540
- 540
Ol=s0t ¥ S&&-0l&0F 2=l X2 39,400 21,100 18,300
= 19,700
Al 9,850
- 9,850
307 glztol & 39,400 21,100 18,300
= 19,700
Al 9,850
- 9,850
0122 & 3=l 39,400 21,100 18,300
ODI%0F & HFA0IA0F 22| X
39,400,000 39,400
= 19,700
Al 9,850
- 9,850
SEEUAOIY SBAF X &ot2te 37,000 37,000 0
= 18,500
Al 9,250
- 9,250
307 21201 & 37,000 37,000 0
= 18,500
Al 9,250
- 9,250
012z & 2=H| 37,000 37,000 0
OHEHLUAIOIa ZAF & B0tz
37,000,000& 37,000
= 18,500
Al 9,250
- 9,250
SHEHEZAL & 2K 4,000 2,808 1,192
= 2,000
Al 1,000
- 1,000
307 el2to| & 4,000 2,808 1,192
= 2,000
Al 1,000
T 1,000
01292 & 3=H| 4,000 2,808 1,192
OXYOot FUHEZAH S A&
4,000,000& 4,000




FA ABSL
I FAoldE A238 N2
ol SAEY 23 2 2NEA 2 (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
= 2,000
Al 1,000
- 1,000
NASE JIMA & ZHE2s A 503,800 496,220 7,580
= 251,900
Al 125,950
- 125,950
307 @12t0| & 503,800 496,220 7,580
= 251,900
Al 125,950
- 125,950
05 212+ =S 503,800 496,220 7,580
OMASE JIMH & ZHER XN&
503,800,000 503,800
= 251,900
Al 125,950
- 125,950
QX Aa82e| Xd 20,148 22,292 N2,144
201 fer= 3| 7,900 10,044 N2,144
01 At 2|l 5,700 3,240 2,460
OAgsE & 228 #¥
1,900,000 1,900
OQUEZ(SIIEED|, E=2Dl, =87I)
3,800,000& 3,800
02 S3=gl 2,200 6,804 A4,604
OgHet Ul SENS MUl Sl 29
2,200,000 2,200
307 @I2t01 & 12,248 12,248
0122 & 3=l 12,248 12,248
OlHIZ & =IISAF A2Hz88 X2
12,248,000& 12,248
SAEAMY EXQ1EH| K& 16,750 17,423 AB73
= 8,375
Al 4,188
- 4,187
101 @124H| 16,750 17,423 AB73
= 8,375
Al 4,188
- 4,187
04 JIZtN2Z2 XS E+ 16,750 17,423 AB73
ORXEHAIY 2012
16,750,000& 16,750
= 8,375
Al 4,188




SH: AYET
I FAoldE A238 N2
ol SAEY 23 2 2NEA 2 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| = 4,187
SAIEN AB2e| K& 92,000 104,000 A12,000
Al 46,000
- 46,000
101 e124d| 24,000 24,000 0
Al 12,000
T 12,000
M ORIMZZ2NSE S 24,000 24,000 0
oz2xegzes X 24,000,000 24,000
Al 12,000
- 12,000
201 fer= 3| 68,000 22,000 46,000
Al 34,000
- 34,000
01 AlR22IH| 64,500 18,500 46,000
OBMTANAMNY B2E 7Y S
15,150,000 15,180
Al 7,575
T 7,575
Ogdl sol== 18 = 49,350,000 49,350
Al 24,675
- 24,675
03 A= 3,500 3,500 0
OBMEINY T2 29 S
3,500,000 3,500
Al 1,750
- 1,750
[Mon &EAZ22| XA 2,400 2,400 0
Al 1,200
- 1,200
201 er23y| 2,400 2,300 100
Al 1,200
- 1,200
01 Al 22| 2,400 2,300 100
ONES U 40F 22 S
2,400,000& 2,400
Al 1,200
- 1,200
gal AtE A 2] X3 A 204,900 0 204,900
= 102,450
Al 51,225
- 51,225
307 lztol & 204,900 0 204,900
= 102,450




SH: AYET
I FAoldE A238 N2
ol SAEY 23 2 2NEA 2 (EEEE))
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 51,225
T 51,225
0192 & 3=l 204,900 0 204,900
Ogal AtdAZd 2] X3
150,00024*1, 36624 204,900
= 102,450
Al 51,225
- 51,225
FHAAES =X 1,094,719 1,561,365 A\466,646
= 450,430
Al 369,578
- 274,711
=0t gatel 523,216 493,600 29,616
= 261,608
Al 130,804
- 130,804
101 e124d| 13,080 8,000 5,080
= 6,540
Al 3,270
- 3,270
04 JIZtN2Z2 XS 13,080 8,000 5,080
O=JIZEAMZ 2X£015 2|
13,080,000& 13,080
= 6.540
Al 3,270
- 3,270
308 AtXIEHMSOIE 510,136 485,600 24,536
= 255,068
Al 127,534
- 127,534
183 S| 2SI ZB&HASAIE 510,136 485,600 24,536
o=t A 510, 136,000& 510,136
= 255,068
Al 127,534
- 127,534
=t A At 9,800 9,800 0
201 fet= 3| 9,800 9,800
01 AtR2t2|HI 2,000 2,000
O=Jt g2 EE2GHI(HUHZ S)
2,000,000& 2,000
2 S5=2g4l 7,800 7,800 0
Ogad Hai LEESH|
7,800,000& 7,800
LEX o SHIXIH (HEALS) 201,333 633,335 A\432,002




SH: AYET
I FAodE A2S8 N2
Rl FHAAS A=K (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 151,000
T 50,333
307 lztol & 201,333 633,335 A432,002
Al 151,000
- 50,333
0192 & 3=Hl 201,333 633,335 A432,002
Ogeht 2= 201,333,000& 201,333
Al 151,000
- 50,333
ot 2el (M EAY) 8,000 8,000 0
Al 6,000
- 2,000
201 =3 2,000 2,000 0
Al 1,500
T 500
01 At2teltl 2,000 2,000 0
O8E=3 ¢ 2,000,000& 2,000
Al 1,500
- 500
307 @20l & 6,000 6,000 0
Al 4,500
- 1,500
012z € =4 6,000 6,000 0
OAzAR2E 7Y 6,000,000 6,000
Al 4,500
- 1,500
3|AHEEA SIZHIKIH 300,920 370,820 69,900
= 150,460
Al 75,230
- 75,230
308 XtXIEMSO0IE 300,920 370,820 69,900
= 150,460
Al 75,230
- 75,230
13 SI[2SOHe & EAS A 300,920 370,820 269,900
o3&kt 2l=Hl XI#
300,920,000 300,920
= 180,460
Al 75,230
- 75,230
SIE20 T A LEATH AL 47,950 45,810 2,140
= 38,362
Al 4,794




SH: AYET
I FAodE A2S8 N2
Rl FHAAS A=K (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 4,794
308 AtXIEHMSOIE 47,950 45,810 2,140
= 38,362
Al 4,79
- 4,7%
18 SIS0t HAS A 47,950 45,810 2,140
O2gg0=ad A detAd A
47,950,000 47,950
= 38,362
Al 4,7%
- 4,79
getit ot el N3 AL 3,500 0 3,500
Al 1,750
- 1,750
307 @120l & 3,500 0 3,500
Al 1,750
- 1,750
0122 & 3= 3,500 0 3,500
OYeR IHL T XI2 ALY
700,000 x5H 3,500
Al 1,750
T 1,750
oA e At 2,129,026 2,124,764 4,262
= 755,721
Al 725,6%6
T 647,609
J=daAL=XHE 29 51,100 51,100 0
= 25,550
Al 12,775
- 12,775
307 elztol & 51,100 51,100 0
= 25,550
Al 12,775
- 12,775
05 git?(&=s 51,100 51,100 0
OFMAHLFXIHEEH At 51,100,000 51,100
= 25,550
Al 12,775
- 12,775
JAALSINME HES 800,900 711,360 89,540
= 400,450
Al 200,225
- 200,225




SH: AYET
I FAodE A2S8 N2
s BAAZ2AC A (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 800,900 711,360 89,540
= 400,450
Al 200,225
- 200,225
05 2ItRIE = 800,900 711,360 89,540
OFUAL=ILY &S
762,762,000 762,762
= 381,381
Al 190,691
- 190,690
OSSIAAYSTANY &S
38,138,000& 38,138
= 19,069
Al 9,534
- 9,535
K2t Ol 2 AL 41,060 40,720 340
= 20,530
Al 10,265
- 10,265
307 212+01& 41,060 40,720 340
= 20,530
Al 10,265
- 10,265
05 eit?(& = 41,060 40,720 340
OXH 0 &AL 41,060,000& 41,060
= 20,530
Al 10,265
- 10,265
AL 2tAr QI X 74,072 54,143 19,929
= 37,036
Al 18,518
- 18,518
307 gl2to| & 74,072 54,143 19,929
= 37,036
Al 18,518
- 18,518
05 2I2tRIE S 74,072 54,143 19,929
OXta il ZAIY IS XIH 74,072,000 74,072
= 37,036
Al 18,518
T 18,518
RHatOll 2t ALY REMIXI2 11,820 30,000 A18,180
307 el2tol & 11,820 30,000 A 18,180




SH: AYET
I FAodE A2S8 N2
s BAAZ2AC A (Cre|: ®M2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 11,820 30,000 18,180
OXFar 1A = AL 900,000 900
OXtatileyr 228 2 S
7,020,0002! 7,020
OMEXI0l 24 U B2
1,400,002 1,400
OXralolg XIRH N 2 BUSBUE X
= 2,500,000& 2,500
NasE AASAHHA XFAY 52,500 52,500 0
= 26,250
Al 13,125
T 13,125
307 elztol & 52,500 52,500 0
= 26,250
Al 13,125
- 13,125
05 2ItRIE = 52,500 52,500 0
ORASE AASHHIA TR
52,500,000 52,500
= 26,250
Al 13,125
- 13,125
S=2cl SEXNZHYH 2 170,990 185,380 14,390
= 85,495
Al 42,748
- 42,747
307 212+01& 170,990 185,380 214,390
= 85,495
Al 42,748
- 42,747
05 glt?(& = 170,990 185,380 214,390
OES22 SHNAHE 2¢(2X)
170,990,000& 170,990
= 85,495
Al 42,748
- 42,747
==k S SSA Atz 100,000 100,000 0
= 50,000
Al 50,000
307 glztol & 100,000 100,000 0
= 50,000
Al 50,000
05 2IMRIE S 100,000 100,000 0




SM: ALEXD
S A0IME H2ASE XA
el ZaAzd2tel At (Cre|: ®M2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OL=kt S S Atdl el Atd|
100,000, 000& 100,000
= 50,000
Al 50,000
ATHEAIE 29 543,380 526,910 16,470
Al 271,690
- 271,690
307 QIZt01 A 543,380 526,910 16,470
Al 271,690
- 271,690
02 QIRHEAAIH B X 210,080 0 210,080
OEAMEAE 29 210,080
02D ABIZF FIAIE 29(2IH2))
133,058,000 133,058
Al 66,529
2 66,529
0YDE ABI= DSMEAE 2 ()
ot A) 77,022,000 77,022
Al 38,511
- 38,511
05 QIZtRIEIS 333,300 526,910 A193,610
QFUMEANE 29Y 333,300
02IE AMBISEH OIBAE 2 (MM
cl) 333,300,000 333,300
Al 166,650
- 166,650
SAIESA XIZHl XI& 24,000 24,856 N85
= 12,000
Al 6,000
- 6,000
307 QIZt01 A 24,000 24,856 A856
= 12,000
Al 6,000
- 6,000
01 22 & 35| 24,000 24,856 AB5%6
HAMEEHG XI=8 X2
24,000,000 24,000
= 12,000
Al 6,000
- 6,000
AL ZC|ALY KHMIKI & 7,015 9,542 N2,527
201 B2 AL| 3,830 3,340 490
01 ArR22ltl 1,330 840 490




od
i’
o
uJ

-

KIO

Hlw

A3,017

A7

P SEes
Ofl &k2h

2,500

6,202

3,000

202

Ofl &F2H

840
490
2,500
1,200
400
900
3,185
3,000
3,000

185

- HyS

S - B

840,000
490,000
1,200,000
400,000
900,000
3,000,000&

- SRA(3) - HIRA

307 212+01™

I
[

IS XAk

11 Ak

OAt
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10,830
10,830
1,735
1,735
1,735
2,830

19,200
19,200
19,200
6,100
6,100
6,100
10,450

185
30,030
30,030
30,030
30,030
30,030

5,950
5,950
2,000
2,000
22,080
22,080
7,83
7.83%
7,83
7,8%
7,83
1,675
1,675
400
400
5,760
5,760
13,280
13,280

Al
Al
Al
Al
Al
Al
Al
Al
Al
Al
Al
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[uind

2|

o
[uind
o=

2|

185,000

KIAFZH] X
5,950,000&
1,675,000

400,000
5,760,000

o
[uind

2|

KIAFZH] X

o
[uind
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SXAHBl Xl
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307 212t01&
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SH: AYET
A P0IME AYSH K@
ol a2l A g (Cre|: ®M2)
M- B SRASH) - HRAR - B2 of v e HIDE2
307 lztol & 13,280 10,450 2,830
Al 13,280
02 QB HANEER 5,330 0 5,330
OZLTHEAIE SAL SXE+ X 850
oclde] AMEAE SAL SAEs X
! 550,000 550
Al 550
OHIIBHRA HATHEAIS SAK =X
= K& 300,000& 300
Al 300
OZAEAIE SAL SEAZ88H| XI& 400
oclohe] JAEAIE SAL SEAH
&gl XI& 200,000 200
Al 200
odHLIoHR A HATHEAIE SAHA S&A
ZZ & X2 200,000 200
Al 200
OZAEAIE 22Xt =& K& 1,200
oclohe] JAMEAE 22X =g N3
1,200,000& 1,200
Al 1,200
OZAHEAIE SALL =¢8] NI 2,880
oIzl ATHEAIS SAX 32l N
1,920,000& 1,920
Al 1,920
odHLIoHR A HATHEAIEZ SAHL SEHI
A& 960,000 960
Al 960
05 21t = 7,950 10,450 2,500
OZAHEAIE SAL SXE+= K& 1,350
oMl JAMEAIE SAL SXE
SE=! 1,350,000 1,350
Al 1,350
OZANEAIE SAL S8 XI&H 600
oMl JUMEAE SAL SEA
Z2Z &l X 600,000 600
Al 600
OFAMEAIE 22kt =& A& 1,200
od=Mscl HATHEAIE 22|t =& X
al 1,200,000& 1,200
Al 1,200
OZATHEAIE SAA S8l X 4,800
odA=Mscl HAMEAIE SAHL SEHI
A& 4,800,000 4,800
Al 4,800
SEAATSTAE 196,820 283,000 86,180




SH: AYET
MM 0IME AR Xg
CHel: HAIARRIAY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 98,410
Al 49,205
- 49,205
307 @I2to| & 196,820 283,000 86,180
= 98,410
Al 49,205
- 49,205
05 212t =S 196,820 283,000 N86,180
OJIZZUALSXNNE SEHLALSH
At 85,820,000 85,820
= 42,910
Al 21,455
- 21,455
Oss2elseglaEdy sgdadALsa
At 53,000,000 53,000
= 26,500
Al 13,250
- 13,250
O0tsEAaE HAEHA
58,000,000 58,000
= 29,000
Al 14,500
- 14,500
ALEEHA 2E 4,224 15,910 11,686
201 =3 4,224 15,910 11,686
01 At22t2lt] 1,724 9,124 AT,400
Oz JI0IE= MZ 1,724,000& 1,724
02 S5=2g4l 2,500 6,786 N4,286
Oxtgr= Al 2,500,000& 2,500
XIOH 2| At 1,135,815 905,464 230,351
= 348,691
Al 147,642
T 639,482
XOHetMIE 29 419,228 430,303 A11,075
= 335,382
Al 41,923
- 41,923
101 @124H| 29,338 22,821 6,517
= 23,470
Al 2,934
- 2,934
04 JIZtN2Z2 XS E+ 29,338 22,821 6,517
OXIH A HIE! HE SZ2e Q12|
27,090,000 27,090




FA ABSL
MM 0IME AAEX XY
Rl XIOHZ2I ALY (Shol: % 2)
M- B SRASH) - HRAR - B2 of v e HIDE2
= 21,672
Al 2,709
- 2,709
OJIZHHl 221t =283
2,248,000& 2,248
= 1,798
Al 225
- 225
201 Ler23 | 263,390 305,782 AN42,392
= 210,712
Al 26,339
- 26,339
01 AtR2te|Hl 143,600 157,642 A14,042
OXIHAIS MFES & 223 S
67,380,000 67,380
= 53,904
Al 6,738
- 6,738
OXIOHAIS = 34,000,000 34,000
= 27,200
Al 3,400
- 3,400
Oogxz 41,240,000 41,240
= 32,992
Al 4,124
- 4,124
OXISA2IE2IA 22
980,000 980
= 784
Al B
- 8
2 S52g4l 43,950 29,340 14,610
OMAIZ = 39,950,000 39,950
= 31,960
Al 3,995
- 3,995
Oxtgrm A2 4,000,000 4,000
= 3,200
Al 400
= 400
03 A2 | 75,840 118,800 ~42,960
SEWE"F 38,320, 0002 38,320
2 30,65
Al 3,832




SH: AYET
M P0IME ALED K
SRl XIOH&2IAL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 3,832
OZAZ 37,520,000 37,520
= 30,016
Al 3,752
- 3,752
202 04| 12,000 10,000 2,000
= 9,600
Al 1,200
- 1,200
01 =LHNHI 12,000 10,000 2,000
OXIHtSHIE! EF 0
12,000,000& 12,000
= 9,600
Al 1,200
- 1,200
203 =8| 1,500 900 600
= 1,200
Al 150
- 150
03 A= LR F&IH| 1,500 900 600
OXIfete MiE] HRFA 1,500,000& 1,500
= 1,200
Al 150
T 150
301 LEtE N = 31,600 40,800 29,200
= 25,280
Al 3,160
T 3,160
BIE2ds 31,600 40,800 29,200
OggolA=d 26,000,000& 26,000
= 20,800
Al 2,600
- 2,600
OXHESALAF AHI24 3,000,000& 3,000
= 2,400
Al 300
- 300
Os&s=20 g=t| 2,600,000& 2,600
= 2,080
Al 260
- 260
307 glztol & 48,400 50,000 21,600
= 38,720




SH: AYET
MM 0IME AAEX XY
C2l: XIHZ2l ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,840
T 4,840
0192 & 3=l 48,400 50,000 /1,600
OXs=23 & 9=242F 7
40,000,000& 40,000
= 32,000
Al 4,000
- 4,000
OXIOH &S A 8,400,000& 8,400
= 6,720
Al 840
- 840
308 AtXIEMSOIH 10,000 0 10,000
= 8,000
Al 1,000
- 1,000
18 SIS0t 34 A A A 10,000 0 10,000
OXIOHAFY & 0H| 10,000,000 10,000
= 8,000
Al 1,000
- 1,000
401 Al HIZL 201 20,000 0 20,000
= 16,000
Al 2,000
- 2,000
01 Al&HI 20,000 0 20,000
OICT Meg& s3xd A&l
20,000,000 20,000
= 16,000
Al 2,000
- 2,000
405 KHakE SH 3,000 0 3,000
= 2,400
Al 300
- 300
01 TR =SFISHI 3,000 0 3,000
OQIXIBeE BAXTA XAz SH
3,000,000 3,000
= 2,400
Al 300
- 300
oLt 0le 24 14,240 50,600 A36,360
= 11,392
Al 1,424




SH: AYET
I FAodE A2S8 N2
C2l: XIHZ2l ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,424
201 er23y| 14,240 50,600 /36,360
= 11,392
Al 1,424
- 1,424
01 At2teltl 6,680 30,600 A23,920
OXIOferite =4 S 6,680,000& 6,680
= 5,344
Al 668
T 668
03 A= SHI 7,560 20,000 12,440
OXIOfeta0tE 224l 7,000,000& 7,000
= 5,600
Al 700
T 700
OXIfetaltE HAIZ 560,000 560
= 448
Al 56
- 56
XoHXIZS2teld] X (HEAY) 138,740 130,752 7,988
Al 104,055
- 34,685
307 gl2to| & 7,000 0 7,000
Al 5,250
- 1,750
0122 € =4 7,000 0 7,000
OXIHXIZHl XI& 7,000,000& 7,000
Al 5,250
- 1,750
308 XXM SO0l 131,740 130,752 988
Al 98,805
- 32,935
18 SIS0t HAS A 131,740 130,752 988
OXIHXI=ZHl XI& 131,740,000 131,740
Al 98,805
- 32,935
X0 22/HH F=R(SSINH= SSFA ALY) 2,397 2,397 0
= 1,917
Al 240
- 240
201 fet= 3| 197 397 A200
= 157
Al 20
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Hlw
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6,090
2,862
3,228
194
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264,414
264,414
264,417

A3

MEE
Ofl &k2h

327

2,000

2,000

55,392
33,948
5,976
27,972
20,544
20,544
236,020
236,020

236,000

20

Ofl &F2H

197

197
157

fir

2,200
1,760

Al

fir

220
220
2,200
2,200
1,760

Al

fir

220

220
40,038
8,838
5,280
1,740
1,818
31,200
31,200
18,000
6,000
3,000
800

400
3,000
20,738
20,738
20,738
500,434
500,434

500,417

Al

500,417

17

- HyS

- SRA(E) - HIRAY

S - B

01 AFS2t2ltl

HIE A& s 240

197,000

2,200,000

t

14 J|Et

5,280,0002
1,740,0002
1,818,002
18,000,002
6,000,000
3,000,000
800,000
400,000
3,000,0002

20,738,000

or&

=2
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=
=)

=4
dl

+

A

AtAlE 22| = XIH]
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oIt
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g

X
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O
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308 At

FAISHE 2

80
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A =
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2= KIA
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25,846
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MEE
Ofl &k2h

464,133

51,733
51,733
51,733

412,400
407,100

Ofl &F2H

383,888
47,986
176,422
515,909
383,888
47,986
84,035
36,049
36,049

10,203
10,203
5,09
160
280
280
140
1,274
1,529

835
610
25,846
25,846
20,064

4,560
500

250

472
479,860
383,888
47,986
47,986

473,560

378,848
47,3%
47,3%

473,560

i

- HyS

- SRA(E) - HIRAY

S - B

Farsy

30
01
il

80,000& 22
140,000& 22

2,547,080 x2&
140,000& 22

HI AISAR(

101 e124d|

D
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o O O O
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70,0003 x22
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2,547,080 +60%+1
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=

O O O O

20,8603 20 Al 22
15,2403 <8 A 2H+5L
50,000& *10&
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11,4003 =8 A 2Hx22& * 10&
11,4003 +8AI2H+52+ 103

0 S04
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83,460

390,100

451,040
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H & 0l & AHS B Ml A

SN 2EERRID
S g2 MA 2t
el ZEY 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
g2 8,640,165 10,320,518 1,680,353
= 3,694,366
Al 1,865,991
- 3,079,808
S 2elMA 2t 8,202,504 9,881,962 1,679,458
= 3,656,652
Al 1,847,134
- 2,698,718
88 2l 7,257,766 8,835,510 1,577,744
= 3,496,323
Al 1,757,731
- 2,003,712
HEHAESUHSRE s & EEXE 3,200 0 3,200
= 1,600
Al 1,600
201 er2 3| 3,200 0 3,200
= 1,600
Al 1,600
03 A= I 3,200 0 3,200
OMESHI ARD DY 2% Y HU|H
= 3,100,000& 3,100
= 1,550
Al 1,550
OMEHA A2 2o/=d 2 HZ
100,000 100
= 50
Al 50
Y ESAA 6,980,326 5,514,332 1,465,994
= 3,490,163
Al 1,745,081
T 1,745,082
101 @124H| 27,426 0 27,426
= 13,713
Al 6.85%
- 6,857
M ORNZZ2NSE S 27,426 0 27,426
OlLEESS=HE 2Y 27,426,000 27,426
= 13,713
Al 6,85
- 6,857
307 212+01& 6,952,900 5,514,332 1,438,568
= 3,476,450
Al 1,738,225




FA Zggaeln
M el i 2
el ZEY 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,738,225
012z & a=Hl 6,952,900 5,514,332 1,438,568
OO0gl0l =t ES 4,636,680,000& 4,636,680
= 2,318,340
Al 1,159,170
- 1,159,170
Oge =JHYES 1,559,036,000& 1,869,036
= 779,518
Al 389,759
- 389,759
OHPV B ES 104,712,0002 104,712
= 52,356
Al 26,178
- 26,178
OBE2HE 4128 YA
9,048,000& 9,048
= 4,524
Al 2,262
- 2,262
OAIF S| HLES
29,424,000 29,424
= 14,712
Al 7,3%
- 7,356
OZZLHY HIEES Alet]
614,000,000 614,000
= 307,000
Al 153,500
- 163,500
HLESAIY 2 A& 156,560 162,354 N5, 794
101 ©1AH| 30,014 39,334 A9,320
M ORNZZ2NSE S 30,014 39,334 29,320
O ESAIY JI2HH 22X 124Y] 22,163
oJlE=s 91,2002 x1H+22 2«0 18,058
oFF=d 91,2002 x 12 *42+93 3,284
ORSiPN =Sy 91,2003 1&+93 821
OJIZHHl 22X AHI(QIER AT HLE
5) 91,2003 x1H#27 L +3E 7,388
OJIZHHl 221 MHEE=2ds
462,280& 463
201 er23| 5,776 5,550 226
01 AtR2t2|HI 4,776 4,550 226
Oz 2t 2HI(22ULH19 8)
4,050,000 4,050
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SN 2EERRID
S g2 MA 2t
el 2388 s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
- 1,706
201 Zet=3hl 856 856 0
= 428
Al 214
- 214
01 At2teltl 856 856 0
OouoIzneg 22= M= 856,000 856
= 428
Al 214
T 214
307 elztol & 99,022 66,986 32,036
= 49,511
Al 48,019
T 1,492
0192 & =4l 99,022 66,986 32,036
OO0ll0I = &ZIEFAISE 20K 5,967,000 5,967
= 2,983
Al 1,492
- 1,492
O0lloI= Xt &=l 93,055,000 93,085
= 46,528
Al 46,527
Ol0I= & SO (SHEE & XIZ) 2,182 2,980 AT98
= 1,091
Al 546
- 545
307 elztol & 2,182 2,980 AT98
= 1,091
Al 546
- 545
0192 & 3=l 2,182 2,980 av(e st
Ogd XEtAISf 20K 2,182,000& 2,182
= 1,091
Al 546
- 545
oz EZE | oiY2elAY 2,287 9,000 26,713
= 2,287
307 21201 & 2,287 9,000 6,713
= 2,287
02 2IZHBYAIHE A 2,287 9,000 6,713
Oog etz E e 2,287,000& 2,287
= 2,287
g8 og 813,931 687,901 126,030




FA Zggaeln
S g2 MA 2t
ohelr 288 oY EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 105,092
Al 38,704
- 670,135
LALSAI 329,982 356,756 ND6, 774
101 21AH| 50,081 50,056 25
M ORNZZ2NSE s 50,081 50,056 25
OgIASEX 50,081
oJlEs 91,2003 x2 B 222+ 36,116
oFFm=d 91,2002 x2& 4L +93 6,567
o HirE+rE 91,2003 2+ 19 1,642
oJIZHHl 22X MHEUSEHS
2,677,576 23 5,3%
oYARA II=H| 100,000& »2& =22 400
201 Ler23| 17,324 19,512 AN2,188
01 At2teltl 6,704 9,288 A2,584
Ogg e Sl
8,000 x12*102x 12 960
O 1=d| 100,000& 2 »23] 400
OFEMH 22,0003 3% 66
OeiMe AIRBE S 2
700,000 700
OYA=IFHI(GPS) 2 HE
654,000 *7CH 4,578
02 s3=gHl 10,620 10,224 3%
Og S &t Xl 4,000,000 4,000
OdliESE XD R 48,0002 »88CH 4,224
Ot aiSIILIM MHS2AH| S FAbI
2,000,000 2,000
Odgea g2 018
33,000~ 1CH=120H & 3%
206 M=Hl 138,000 168,000 /30,000
01 MHZH| 138,000 168,000 30,000
Ogga=s K= 15,000,000 15,000
Oggas 3| 120,000,000& 120,000
Oogg22E 3,000,000& 3,000
301 Eet2 NS 500 500
14 0Bt 2as 500 500
ogRHS)Egdd S At 24X X2t
500,000 500
307 glztol & 120,426 115,922 4,504
05 2ItRIE = 120,426 115,922 4,504
OA=SHH2H(7TAH) 120,425,200 120,426
405 KHaHF S| 3,651 2,766 885
01 ML ESFSHI 3,651 2,766 885




2A:

2489
M 2eisare| Y 2
el ZZE o EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHNSERI| P (FLUHMA ZE)
885,000 *3CH 2,65
Ot HSIILM HSE2A 2
996,000 *1CH 9%
YAFAHSE S2YS XA 7,500 7,500 0
206 M=l 7,500 7,500
01 MHZHI 7,500 7,500
Ogzgd o=l 6,000,000 6.000
ogel A2 1,500
oSlMEE REIT| 010/
3323071 *1,0000H £ 990
oMY, &, = S 510,000& 510
NERES YA 10,000 10,000 0
Al 5,000
T 5,000
206 M=l 10,000 10,000 0
Al 5,000
=] 5,000
01 W=Hl 10,000 10,000 0
Ogoiorz 9 4Rz 39
10,000,000 10,000
Al 5,000
- 5,000
Zctelor EIXIALE 60,000 60,000 0
= 30,000
Al 15,000
- 15,000
101 21AH| 20,000 19,000 1,000
= 10,000
Al 5,000
- 5,000
04 JIZtNZ22 NS+ 20,000 19,000 1,000
OJIZNZ22 X 2= 20,000,000 * 1 20,000
= 10,000
Al 5,000
- 5,000
201 er23| 22,000 25,000 /3,000
= 11,000
Al 5,500
- 5,500
01 At2teltl 22,000 25,000 A3,000
Ogetelor Y g2= & =58 78 S
22,000,000 22,000
= 11,000




FA Zggaeln
M 2eisare| Y 2
el ZZE o EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 5,500
T 5,500
206 M=l 18,000 16,000 2,000
= 9,000
Al 4,500
- 4,500
IEET 18,000 16,000 2,000
Ogolorz 9 42E £ 39
18,000,000 18,000
= 9,000
Al 4,500
- 4,500
LA (SOHZE O L ALY) 58,712 148,460 89,748
= 29,356
Al 14,678
- 14,678
201 el 2,000 3,000 21,000
= 1,000
Al 500
- 500
01 Al 22| 2,000 3,000 1,000
oY BB, ARSE 7Y
2,000,000 2,000
= 1,000
Al 500
- 500
202 04| 1,500 3,600 22,100
= 750
Al 375
- 375
01 2LHA b 1,500 3,600 22,100
ESG] 1,500,000& 1,500
= 750
Al 375
- 375
307 @I2t0| & 55,212 105,064 A\49,852
= 27,606
Al 13,803
- 13,803
012z & 2=H| 55,212 105,064 A\49,852
OZHASIIN S 14,152,000& 14,152
= 7,076
Al 3,538
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